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Number Search Y6 Make 24

This table has lots of sums that make 24. They could be addition, subtraction,
multiplication or division. There are at least 15 to find.
Write each sum down in the space below.
All the sums are across, down or diagonally.

@ x|6|=[2[BD+|1|7]+|7|=]|24
O|1(3|x[8|=|2|4|+|2|+|3|4]|x
-|=|/x|7|4 /x| +|—-|16|3|b|—-|=|6
1148/ +~|2|=12|4/1|x|8|x|9]-=
6 7| x| —-18[9/2|+/0]|8|+]0|=|2
=16|3|+|x|b|l=|4|x|=|=14|x |4
2 x|=|1|+]22|3|3|2|-/2/4 |4
4 +(2/0(=12|4|2|+|4|3|x|4|7
+ x4/ b|-12|1|=12|4|-|1]9|x
9 —-|6|x|4|=12|4/8|+|7]|2|=|6
x/1/1/=12|3|x|3|3|x|8|=|2|4
214/8 | ~|2|=(2/4/4|+-/4|2 /x|5
+13|+|4|/5/4/6|x|7|-/8[4/9|0
2/4/0/+~|1|0|=|2/4|7|8|=|9|0

4x6=24
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Number Search Y6 Make 24
Solution

Below are some of the sums that make 24.
There may also be others.

X =T2 4| + | 7 7 =24
O 1|3 8r=ro4 = 2|+|3]4 x
F = x |7 & x| F N6 |B|5|—|=6
| [ Arg T2 =R T4 N Kx|8 x|9
6 7|x |- 8|9 R +| 0B +0|=]2
63+x5=\4\x:\-\4x4
pix|t|1]+]2|p|3[3/p|- R4 4
HFTETOT= T2 TH |2+ [ A3 k[#|7
s X\ FTE T2t =24 | - | 1|9 x
9| - ogxTa4T=T2T4|8 |+ 7|2 |=|6
x| 1[1]X/2|3|x|3|3 %81+ 1214
2 |48 1+ra=T24 |4 |4 |p|x 5
13|+ /4/5/%|6|x|7|-|8/4 9|0
PrATOT=rtror=r214|7/8|=|9|0




